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Dads 60th birthday

Y our Honour, members of the jury, today | am the plaintiff, Mr Ken Smith, in the

case of Smith v. 1958. | have intended to prove the defense.

Let me remind you of the key of this case presented in court today:

- reinstate the magjor issue of Mr Smith he was in

- reinstate the fact that Mr Smithis 60 years old today

- reinstate the face that Richard and Marge Smith are the of Mr Smith

- reinstate the fact the Mars, Cindy and Jon are the of Mr Smith.

- reinstate the fact that Mr Smith was in Berwyn,

-reinstate the fact that Mr Smith attended Trinity Christian College and in 1980 with a
Bachelor of degree in Business Administration

- reinstate the fact that Mr Smith aPorsche in 1978

-reinstate the fact that Mr Smith Beverly Vakerin_____ .. andtogether they have
three : Julia, Ken Jr and Leslieann

-reinstate the fact that Mr Smith is currently to retire from his current

at XPO Logistics Corp

-reinstate the fact that Mr Smith is to find anew job where the stressis

and the pay is




Today you have also heard from my , the. Baker members, which | believe has

left no doubt in your of the innocence of the plaintiff.
Please find the plaintiff, Ken smith, not guilty of a 60 year old born
in 1958.
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